Geometry Circles Test Review

Name

In 1-6, secants BAPand DCPare drawn to circle O from P. Chords BC and ADintersect at
E. Line GF is tangent to the circle at D. Chord BOC s a diameter and ODis a radius.

1. Express each of the following in terms of the measures of intercepted arcs. (In words)

a) mZCOD b) mZABC c) mZBEA

d) msP

2. Name an angle congruent to each of the following.

a) ZABC b) £ZBAD ¢c) ZCED

3. If mAB =140, find m/ABC .

4. If mBD =80and mAC =30, find:

a) mZP b) mZAEC c) mZCOD

5. If mBD =mCD and mﬁ:mzﬁ:ml, find:

a) mBD b) mAC c) mAB d) m«P

6. If m/ZAEB =130 and mAB =150, find:
a) mCD b) mAC c) mBD

f) m«sP g) mZCDA h) m/ZPAD

d) ZCDB

d) mZCDF

e) mZLCDF

e) LPAD

e) m£ZBOD

e) mZADF f) m/AEB g) mZADC

d) m£COD

i) m£ZCDF

e) m/BCD



7. In the diagram, secants PAB and PCDare

drawn to a circle from P. Chords AD and BC
intersect at E, with BE>EC.If PA=14, AB=10,
PC=16, AE=4, ED=4, and BC=10 find:

a) PD b) CD

c) CE d) EB

a) PC

¢) CM

9. In the diagram, diameter AOB is extended to
point C, CD is tangent to the circle at D, DOE is

a diameter and mBD : m?l—ﬁ =2:7. Find:

a) mBD b) mAD
c) msZE d) mzC
e) mAE f) mEB

g) mZCDE h) m/ADC

8. In the diagram, PA is tangent to circle O at A.
PBC intersects the circle at B and C, chord DE

bisects chord BC at M, PA=9, PB=3, and
DE =30 find:

b) BC

d) EM when EM < DM
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